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3-2 (1) RERB7ILIIIL

m 5 fO PR REZR (shortest-path problem)
"N . FATE S
> BEETST76 = (V,E), EHEEwW:E - R*
> Wma(eV), &ab(eV)
- R 2V I—IN = (G, w)DEFE(a, b)-Bx—2rt

(a,b)-8& EH
- 9 (=1+48)
10 (=142+7)

— 14 (=4+2+8)
- 8 (=5+3)
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RER7ILIY) XL (BFSFIA)

m IR E AERE
-\
> BEET 5760 = (V,E), EHEEwW:E - R"
> Wma(eV), &ab(eV)
- B 2y R7—=IN = (G, w)DN&\E(a, h)-BNEALE T

mEEEEOSNIATITT7ILTY X LEZFALES?
- MME LD EBERDIGE
- 7’57122 # L CBFSHI A

¥
—» N = {t
A(t) =

(s,t)eE} Step 2
-0 —
Y

A) =0 [ Step 1
A(s) =i,
No ES

l=1i+1 Step 3
vVt € N,A(t) =1
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R T7ILI) XL (BFSFIR)
m Algorithm 3. 79 (BFS)
- A7 n=|V|,m = |E]|

> #BEIS576 = (V,E), EAFEEWE - R"
> Wma(eV), LRab((eV)
-HAh 2YNT—IN = (G, w)D&FE(a, b)-BDEH
Step 0: Construct a graph G’
by replacing each edge e with a path of length w(e)
Step 1: Apply Algorithm 3.6 (graph-distance) on G' as r = a,
and output A(b)

X N =(G,w)
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RAEET7ILI) XL (BFSFIA)

m Algorithm 3. 79l % BRI 7L T X Lh?
- NO!
m 7
- MEARANEHN2"DIFE
m max{w(e)le e E} =2"
- BIMBEHIInEYITERIR
- ANHHTAX
m |G| =0(n+m),|w|=0(mn)
m [(G,w)| =0(mn)
-G = (VL EN V| = 2" NATARIBILT

m Algorithm 3. TgnesRIztEE L Q(Z") 1R EX ]

m Algorithm 3.79 (BFS)
Step 0: Construct a graph G’
by replacing each edge e with a path of length w(e)
Step 1: Apply Algorithm 3.6 (graph-distance) on G’ as r = a,
and output A(b)
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BER7ILIZ L (417515R)

m IR E AERE
-\
> WEET 5760 = (V,E), EAEEwWE - R"
> Bma(eV), &ab(eV)
- B 2y R7—=IN = (G, w)DN&\E(a, h)-BNEALE T

m BEATAZ2FAHLE?
- 31,2, ..., ¢, .. n—1DFRFE(Wv)-T12—TNEL*KDS
- &% (a, b)-BNEHIIZTDOFIIHS

2y bI—IN . rx oy f fo_a
1 o 2 o 8|X

W=|4 2 o o 7|V

5 oo o o 3|2z

lco 8 7 3 oolp

w; ;S ABIDRE(, j)-T4— T DEH
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R T7ILT) XL (E4T55A)

m D FIE(u,v)-T4— W, (EAdL,

WU?U
.............................. N
............. SO0y
O-__———‘:",."" - (t; v) W(Wufv) = W(W‘lft_l) + W(t’ v)
u ......... Wut div = di;l + W(t} v)

- AL — 1D FEFE(u,v;)-74— 7+ (v;,v) € E(C)NHIIH S

= dy, = min{diy! + w(v,v))
l

-
—”‘
-
-
-
-
,/
d

~

AL — 1D TR (u, v,) B8
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AR T7ILTY) XL (84437515 A)

_DO

— [qf .
= D, =|dj 2vbT—IN .
- (LNEBRA, ABLDEIE(, )74~ I DEH
0 oo oo 00 007 a
©w () oo © oo o
=loco o () oo oo y
o oo oo () ol
oo 0 © o (0 b
o 1 4 5 o
1 oo 2 o 8
g 020 z ; g w dszmkin{dfkl—l—d}(j} £=1)
loo 8 7 3 o
‘263008'0014500'0014500'a
6 2 5 6 9 1 oo 2 o 8 1 oo 2 oo 8 X
=354910=4200007®4200007y
oo 6 9 6 [o'e) 5 oo o oo 3 5 o o o 3 Z
L8 9 10 o 6 loco 8 7 3 ool oo 8 7 3 oo b
D 1

2022

d32,2=9=min{4+5, 2 + oo, oo+00,1oo+00, 7+ 3}
a2 xBd yRBdH  zBdH bEH

EEEEr 7L XL (3-2) REBT7ILIY L




AR T7ILTY) XL (84437515 A)

[ | D{ = [df
- @ 1)%%‘;@"] AN RE(, )4~V DEH

3 6 7 101 12 6 3 o 87

3 7 4 11 9 6 2 5 6 9
-D3=|l6 4 7 8 11|=|3 5 4 9 10
7 11 8 o 9 o 6 9 6

10 9 11 9 174 L8 9 10 o 6.

m d;, =6=min{2+4, 6+2, 3+ 00, 0+ 00, 847}
af2dB xBd yRBdH  z8Z8dH A

m Algorithm 3.7w (DP)
N
> #EEEIS57 6=(V,E), EAEAEK w:E > R*
> s a(eV), BRED(EV)
- HAhH X2YRT—=IN = (G,w)NETEE(a, b)-BNEH

Step 0: Set Dy and D,

n=|V],m=|E]|

Step 1: For i=2 to n—1, D; = D;_,®D; 0(n) xn? x (n — 3)

Step 2: OQutput min{Dy(a,b),D;(a,b),...,D,,_1(a, b)}

m 23 Algorithm 3. TwoBFREETHEEIL0(n?)

2022 EEER Yy 7LD L (3-2) BERT7ILTY L
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ExAE G 77 )L X L (Bellman-Ford)

m IR E AR
-\
> BEET 5760 = (V,E), EHEEwW:E - R"
> Wma(eV), &ab(eV)
- B 2y R7—=IN = (G, w)DN&\E(a, h)-BNEALE T

R BEFRLES?

-WBENLBEEITHORYIER
- WERBLEAPEVRLLILIERE B4

= min(/l(v),l(s) + w(s, v))
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R ARGV T') X Ls (Bellman-Ford)
m Algorithm 3.7u (Bellman-Ford)
- N n=V,m=|E|

> #EET 576 = (V,E), EAEEW.F - R*
> Wma(eV), Bab(€V)
-EAhH 2YET—IN = (G,w) D& (a,b)-BDEH
Step 0: Set A(v) =oo,Vv €V, and set A(a) =0 and Insert(Q,a)
Step 1: If @ =@ then output A(b)
Step 2: Set s = Delete(Q), and V(s,v) €E, if A(v) > A(s) + w(s, v)
then set A1(v) = A(s) + w(s,v) and Insert(Q, v)
Step 3: Return to Step 2 197>k @ ZAE21EFHEO(m)
ZSRn—179K
@ O(mn) = 0(n3)
= min(/l(v),l(s) + w(s, v))

m =2 Algorithm 3. TunBFfEETEZEIL0(n®)
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AT ILT) XL (Dijkstra)
m 5 2R fE]RE (shortest-path problem)
- A7

> BEETST76 = (V,E), EHEEwW:E - R*
> Wma(eV), &ab(eV)
- B 2YRT—=IN = (G,w)D&EE(a, b)-BEx—o%rt

R B SN SR BT THRYIER
- z\ﬁxa L7=A A WA 5L I%E(%%%ﬁ
DEHBDIEF % TRk (MR ITEWVRITERT 540 5)

= min(/l(v),l(s) + w(s, v))
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XAEEE 7L XL (Dijkstra)
m Algorithm 3.7 (Dijkstra)
- A7 n=|V|,m = |E]|

> #EET 576 = (V,E), EAEEW.F - R*
> Wma(eV), LRab((eV)
- HAhH R2YNT—=IN = (G, w)DEE(a, b)-F
Step 0: Set A(w) =00, p(w) =v (VweV()), X=0, Y =V(G)
Step 1: Set A(a) =0 and s =a
Step 2: Set X=Xu{s}, Y=Y\ {s}
Step 3: If s=b, then output (a,..,p(p(b)),p(b),b), and halt
Step 4: Set A(v) = min{A(v),A(s) + w(s,v)} for every v eY.
Set p(v) =s if the second term is smaller
Step 5: Select s such that A(s) = min{A(v)|v € Y},
and return to Step 2

@B 53) = min((),A) + w(s, v)

o w(s,v)
(@) (a,s)-E& AGs)
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= A— ) » - Tokyo Tech
BRI T7ILOY XL (Dijkstra) ‘

m Dijkstra7/LTY) X L YT —IN

N

> #EITS576=V,E), EAEBW:E > R"
> fBma(eV), &Lab((eV)
HA P Z2YNT—=T N = (G,w)DRERE(a,b)-H
0. #HEARE n=V|,m=|E|
m FEREESNILA(Y) = o0, RIRINILp(v) == v
m HBESEES X =0, KHEEREEY =V
1. BERE
- AMa)=0,s=a
2. MERESEH (sOIEEkEET)

- X=XU{s},Y:=Y\{s} Step G X y z b

3. RTHE O.(%1#) | ® ® o® ©©

- s=b = (a,...,p(p)), p(b), b)EALKT . (Za ) @ © © o o
4. INILES 4. (B%) I 4 5 o

- VveY, Av) = min()L(v), A(s) + w(s, v))
m F2EHNPDIFNULS(V) =5

h. HEE SRR
- S = "Yd)EF"(“/lb“\E%’J\O),‘f-?\J
- Step 2~NR 5%
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_ R .
B FEE§ 7 IL ) XL (Dijkstra)

m Dijkstraz/La) X4
A7
> BRI STI6=(V,E), EAEBw:E > R"
> fBma(eV), Lab((eV)
HA I Z2YNT—=T N = (G,w)DRERE(a,b)-H
0. #HEAR=E n=|V|,m=|E|
m FEEESNILA(Y) = o0, FIRINILp(V) = v
m HEESEES X =0, KHEERERY =V
1. %8RERE
- Ma)=0,s=a
2. HEAKSEN (sOEMER)

- X=XU{s}, Y =Y\ {s} Step ¢ X Y z b
3. RTHI=E 0. (#18R) © © 0 0 00
- s=b = (a,..,p(p()), p(b), b)HAHLIKET . 8R) |(0) © o o o
4. IR 4. () @ 4 5 o
- VveY, A(v) = min()L(v), A(s) + w(s, v)) 4. (E %) @ 5 9
m FB2IEHPIFNUEP() =5
5. B SRR 4. (E#1) 5 9
- 5= TYORTINRND A
- Step 2NR %
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_ R .
B FEE§ 7 IL ) XL (Dijkstra)

m Dijkstraz/La) X4
A7
> BRI ST76=(V,E), EAEBw:E - R"
> fBma(eV), &Lab((eV)
HA P Z2YNT—=T N = (G,w)DRERE(a,b)-H
0. #HEAR=E n=|V|,m=|E|
m FEEESNILA(Y) = oo, BIRINILp(V) = v
m HBESEES X =0, KHEEREEY =V
1. %8RERE
- Ma)=0,s=a
2. HEARSEH (sOEMER)

- X=XU{s}, Y =Y\ {s} STep ¢ X Y z b
3. BTHE O.(#1#8) | © 0 0 o o
- s=b = (a,..,p(p)), p(b), b)HALKT |. (%8 5) @ © o o
4. IR 4. () @ 4 5 o
- VveY, A(v) = min()L(v), A(s) + w(s, v)) 4. (E %) @ 5 9
m FE2IEHPIFNUEP() =5
£ 5. B AR 4. (47 6 9
- 5= TYOHRETINRND S 4. (E#7)
- Step 2R 5%
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BER7ZILOY XL Dijkstra)

m Dijkstra7/LT') XL 0(n?)

A7

> BRI ST76=(V,E), EAEBw:E - R"

> fBma(eV), &Lab((eV)

HA P Z2YNT—=T N = (G,w)DRERE(a,b)-H

0. #HEARE n=|Vl,m=|E|
m BRI NILA(Y) =0, WIRINLpW) =v  Q(n)
n HERES X =0, KXEERERY =V

1. BBSERE 0(1)

- AMa)=0,s=a

2. EERESEH (sOIEBEET)

- X=XU{s},Y=Y\{s} 0Q)x0(n)=0(n)
3. MTHE 0(1) X 0(n) + 0(n) = O(n)
- s=b = (a,..,p(p)), p(b), b)HALKT
4, SNILEH 0(m) or 0(n) X 0(n) = 0(n?)
- VweY, A(v) = min(l(v), A(s) + w(s, v))

m F2AHNIFNEp(v) =5

b, BEE RIER 0(n) X 0(n) = 0(n?)
- 5= TYORTIVRNDD A
- Step 2NR %

YT —IN

Step

Tokyo Tech

0. (%1#8)
. (%8 2)
4. (E#)
4. (E#)
4. (E#7)
4. (E#)

2022 ey 7ILTY) XL (3-2) BERT7ILITY L




_ R .
&GS 7 /L) X L (Dijkstra)

m T2 (Theorem 3.8): Algorithm 3.7(Dijkstra) i
RIEREET0(n?) THEL

O =EAA
> BFRETEE: 0(n%)

m Step 1~3: 24TO(n) R3S < 15 245

m Step 4: Y| =i s, b -mE -KRXNILiIE, 24K T0N?) or O(m)

m Step 5! |Y| =i E, thEIZi — 16, RN B, 24K T0(n?)
> 1FE Y4

m vVEXDUIEF L

= pE2XIEMT R EA(W) = disy(a, V) THB2E2TRT

T YN ERA
iﬁ(%ﬂl‘:’ I}Tﬁ'%mlﬁ m Algorithm 3.7 (Dijkstra)
S N
‘ %Z):/E\:E -EQF%‘ X = {a} > BEEETSIG = (V,E), EHEEw:E - R*
> tBa(eV), BRED(EV)
- Ala) = disy(a,a) =0 - WA RYNT—IN = (G, w)D RS (a, b)-&

Step 0: Set A(w) =0, p(W)=v (VweEV(G)), X=0, Y =V(G)
Step 1: Set A(a) =0 and s=a
Step 2: Set X =Xu{s}, Y=Y\ {s}
Step 3: If s=b, then output (a,..,p(p(b)),p(b),b), and halt
Step 4: Set A(v) = min{A(v),A(s) + w(s,v)} for every veY.

Set p(v) =s if the second term is smaller
Step 5: Select s such that A(s) = min{A(v)|v € Y},

and return to Step 2
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2B ILT) XL (Dijkstra)
sEBA (cont. )

O
& JFMERFE X:=Xu{c} (e
>

Alc) =disy(a,c) 7
disy(a,c) <A(c) (" &IA() D (a,0)-F)
- A) <A, vuey (.HEESRIR)

O &% (a,c)-EP =% (a, c)-&P

- 3A(r,y)EP s.t. x€EX,VyEY
m disy(a,c) =1(P)=10) +w(x,y) +1(R)

v () = disy(a, ©) (" IRANERE DR E)
VAW SAG) +w(ny)  CUINILER)
v I(R)=0 (CEHIIIER)

- AY) < A) +wlx,y) =disy(a, x) +w(,y) =10) +w(x,y)

- A) AW <L) +w(,y) <UO)+w(x,y) +1(R) = disy(a,c) < A(c)

v Ac) =disy(a,c) =
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R 7L X L (Dijkstra)

m ¥ (Theorem 3.8): Algorithm 3.7(Dijkstra)l&
RIAEBERET0(n?) THEL
> ATEETRETERWVH?
- Step 4: O(m) = Z#UIIFRRR

- Step 5: 0(n?)
m RAMEDBIREZNRLILLTESH?

m Algorithm 3.7 (Dijkstra)
- A7
> WHEIS576 = (V,E), EHEAEW:E - R*
> tema(eV), B&ab((eV)
-HEAH FYRT=IN = (G, w)DEFE(a,b)-E
Step 0: Set A(w) =, p(v)=v (VveV(G)), X=0, Y =V(G)
Step 1: Set A(a)=0 and s=a
Step 2: Set X=XuU{s}, Y=Y\ {s}
Step 3: If s=b, then output (a, .., p(p(b)),p(b),b), and halt
Step 4: Set A(v) = min{A(v),A(s) + w(s,v)} for every veY.
Set p(v) =s if the second term is smaller
Step 5: Select s such that A(s) = min{A(v)|v € Y},
and return to Step 2
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— ° SH Tokyo Tech
E— 7 (heap) {3 ‘
E —7K
- THROE T TFoE) LY /PhEWHZFEL W
v BOEISHR/IME PRI
- BRI CERThE = *O®E 0llogn
v 7KL Ra = F7FLR2a, 2a+1
H7RLANSFTRLRAE

1:7?

g = A1V T
+1 = mE = FTAEYrETIC

216 3
FTRLRD ST RLREE
RE (61E)
= B1EYFTE
4: 9 5: 8 6: 7 715
VINEE

KIS NN e
heap&ic?| : h[1] h[2] h[3] h[4] h[5] h[6] h[7] E< /fff/ =
7-9: [2]6][3]9]8]7]5 R

2022 BEAEEr 7L T XL (3-2) RER7ILI) AL 2 |



£ — 7 (hean) 1 3&

m 7T —90iEM : 0(logn)
- h[n + 11257 —%:E o
- FHOEL)NITNIERIE = RICEH»->THEYIRT
T—98n

5"’74%5‘5730 1:72

216 3

4:9
5: 8 6: 7 715

8:4
heap&Z%!l : h[1] h[2] h[3] h[4] h[5] h[6] h[7] h[8]
T 214368 |T[5]9
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E— 7 (heap) 1 3E

m 7T —90iEM : 0(logn)
- h[n + 11257 —%:E o
- FHOEL)NITNIERIE = RICEH»->THEYIRT

m ROHIFR @ 0(logn) F—5¥n
SN s = RKOET 0(logn)
- RIEDT I = RICKEE
- NEVFLY)REFITNEREE = JBLASEIIAN»>TEYIRT
5""74%@730 1:72

2.4 3:3

4: 6
5: 8 6: 7 7:5

8:9
heap&c3!| : h[1] h[2] h[3] h[4] h[5] h[6] Rh[7] h[8]

T 314|568 |T[9]9
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t_7 (heap)*%ﬁ Tokyo Tech

> heapV—b O(nlogn) —_gae

> DijkstraToheapn I A = ADEX 0(logn)
- E=T7FALL 0(n?) n=V]m = |E|

- E—7F A O(mlogn)
v step 4. TERSNILEFH (D) 2°0(m)BHRLE
- BHF—EHLYO0(ogn) THBEY > R/IMEFERM#EFFO(mlogn)
m AHSNTTT7 m=0n? = 0(n?logn) .. EW
m AP NT ST m=0(mn) = O(nlogn) .. Bw

1:7
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HEROMHEY il

m B EDRIE (principal of optimality)h AL
v RO D EILRIER
> RPN D RROIIRER THS
O:ERR: B IEA
> QIR (x,y)-BTRWUIRE
= QLYEW(x, y)-BR®EE . 1Q) > 1(R)
= PLYEV(a,b)-B(P, + R + P) D F1E
= POIREBHETHLIYIZFE
vV OII=mFE(x,y)- =

=% (a, b)-H#&P

,f\\~,/ \Q_,O

2022 BEAEEr 7L T XL (3-2) RER7ILI) AL 25



=

BB 7ILTY) T L

2022

BEAANFET SI5E
Bt EIB ISR IL
Algorithm 3.7 ijkstra)

m 25 (q,b)-BErHATHLILRL LW

Algorithm 3.7u (Bellman-Ford)
n BRI BELLRWVES (BRJ57)
- &% (a, b)-HBExH N

=58 (a,c)-E&P

m Algorithm 3.7 (Dijkstra
e Oikstra) 0 E SR
> #ETS576 = (V,E), EHRANw LR’
> WBEa(eV), F£Eb(EV)
- A RYRT=IN = (G, w)DEIE(a, b)-B
Step 0: Set A(v) =, p()=v (VWWEV(G)), X=0, Y =V(G)
Step 1: Set A(a)=0 and s=a
Step 2: Set X=Xu{s}, Y =Y\ {s}

Step 3: If s=b, then output (a, .., p(p(b)).p(b),b), and halt

. . Step 4: Set A(v) = min{A(v),A(s) + w(s,v)} for every veY.
wiEH A:label Set p(v) =s if the second term is smaller
Qecx Qey Step 5: Select s such that A(s) = min{A(v)|v € Y},

and return to Step 2

BEAEEr 7L T XL (3-2) RER7ILI) AL 26



RAERT7ILIY) X L

m IR
- A7
> #EET 576 = (V,FE), EAEHBwW.E > R"
> tema(eV), #£B8b(eV)
- HR:xvh7—IN = (G,W)O)Eaﬂ(a h)-B % —oORt
m RAERT7IILI)L - AFHEOEYIRUHSER
- Dijkstra
m BAIGEVARIERT SIS (BRLE<1E)
- BFS (%§&3%, Wavefront) ,DFS(&EF5%)
m A% RRIZNIE, FERPEMITICT SR EBE—INEANIZGE
- Bel lman-Ford
m DB EDSNILABEIFHFINSDS
- A T7ILTY) T L
m REITHOTFRAEREIN/NIVIIEL (FERCERIITRT 515
- 2ybh7—770—%H

&Y

] ®
- Q A(v) = min(/l(v),/l(s) + w(s, v))
(5) w(s,v)
@ (a,s)-E& AGs)

2022 BEAEEr 7L T XL (3-2) RER7ILI) AL
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3-2 (2) &R

m 5 = IR[EZR (shortest-path problem)
"N . FATE S
> BEETST76 = (V,E), EHEEwW:E - R*
> Wma(eV), &ab(eV)
- ER: XY 7—=IN = (G, w)DEFEE(a, b)-BEx—2xt

(a,b)-8& EH
- 9 (=1+48)
10 (=142+7)

— 14 (=4+2+8)
- 8 (=h+3)

2022 EEER Yy 7LD L (3-2) BERT7ILTY L
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BEBMEL LML IS THEREE PR
m NI T STH ERRE G

- T 2T7GHNIILT 5T
m N\IILMEARC CEG)HY)
- Ve €C,eDMmig RE=FES/NIILIEHG — {e}lhH B
- TSTCONINWITST7THDBI=0NDSE+HFH
m e €EE(G), eI B ELEINNIILIEHG — {eidH D

vV R REEBEZEG)EAWTELZYTES
m Ve €E(G), G—{e}TenmipsNREREE*KDS
- BONAEHEREBOPIL,DHEV(G)| - 10 & KE (VNIILEER)
m HY = GIENIIITST
m Bl = GENIWITSTTRY
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BEBRMBEO#LY

m = MEDBRIE (principal of optimality) DS FEIL = HEL W
vV EREBOIRSEBIIEREBEIIRS LW

&t (a, b))
— 14 (=4+2+8)

&&(a, x)-B
— 19 (=4+7+8)
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BEBMBORLY

m = MEDBRIE (principal of optimality) DS FEIL = HEL W
V BERBROBTRIIRERYIIFRL LWV
> EELIZEESLHY

- BEANNTRTIELE
m EANTEE R THEERBZEIC
- R (Blame—)

- AR 57 (directed acyclic graph, DAG)
m =RMOBRIEAKIL

27 —IN i EL
(a,b)-B E&
- 9 (=-1-8)

; b 10 (=-1-2-7)
v — -4 (=4-2-8) REE
= — 8 (=53 ®EE
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SiORRMAREAY B £ RAIE

m o PR MEIRE (shortest-path problem)

m 5 = PSMERE (longest-path problem)
- o7 RMEADEEFE, 2ERICKCTHe 7LD T LHY)

WEH | REE R
IE(GF&) 7 L2
1= L2 L2
& (JFIE) L2 7
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